
Заполните таблицу№ Дополнительное условие Уравнение Корни Пример

1. в = с = 0 ах2 = 0 х1 = 0 

2. с  = 0 ах2 + вх = 0 х1 = 0, х2    = - в/а

3. в = 0 ах2 + с = 0 а) х1,2 = ± √с/а
где – с/а• 0.
б) если – с/а • 0, то 
решений нет

4. а ≠ 0 ах2 + вх + с = 0 x1= (-b-√D)/2a
x2 = (-b+√D)/2a 
 где D = в2 – 4ас

5. в – четное число
(в = 2k)

ах2 + 2kx + c = 0 х1 =(-k-√D1 )/a 
х1 =(-k-√D1 )/a 
D1 = k2 – ac, где
 k = b/2

6. Теорема Виета x2 + px + q = 0 x1
 + x2 = - p

x1 ⋅ x2 = q
7. а) а + в + с = 0 

б) а – в + с = 0 
ах2 + вх + с = 0
ах2 + вх = с = 0

х1 = 1,   х2 = c/a
х1 = - 1, х2 =- c/a

8. Выделение квадрата 
двучлена

ах2 + вх = с = 0
(х +b/2a )2 = D/4а2 

x1= (-b-√D)/2a
x2 = (-b+√D)/2a 
 где D = в2 – 4ас

9. Разложение на 
множители

ах2 + вх = с = 0
а(х – х1)(х – х2) = 0

х1,  х2 


